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CHAPTER TEST 3
BIO-ZOOLOGY
Std / Dept : 12
Time Allowed : 40 MIN Max. Marks : 20
MULTIPLE CHOICE QUESTION 5*1=5

1. The approach which does not give the defined action of contraceptive is
a ) Hormonal contraceptive - Prevents entry of sperms, prevent ovulation
and fertilization
b ) Vasectomy - Prevents spermatogeneésis
¢ ) Barrier method - Prevents fertilization
d) Intra uterine device - Increases phagocytosis of sperms, suppresses
sperm motility and fertilizing capacity of sperms

2. Which of the‘following is correct regarding HIV, hepatitis B, gonorrhoea
and trichemoniasis?

a ) Gonorrhoea is a STD-whereas others are not.

b ) Trichomoniasis is a viral disease whereas. others are bacterial.
¢’) HIV is a pathogen whereas others are diseases.

d"). Hepatitis B is.eradicated completely whereas others are not.

3. Which one of'the following groups includes sexually transmitted diseases
caused by bacteria only?

a ) Syphilis, gonorrhoea and candidiasis
b ) Syphilis, chlamydiasis and gonorrhoea
¢ ) Syphilis, gonorrhoea and trichomoniasis
dv) Syphilis, trichomoniasis and pediculosis
4. |dentify the correct statements from the following.
a ) Chlamydiasis is a viral disease.
b ) Gonorrhoea is caused by a spirochaete bacterium, Treponema
palladium.
¢ ) The.incubation.period for\syphilis is is 2 to 14 days in males and 7 to
21 days in females.
d ) Both'syphilis and gonorrhoea are easily cured with antibiotics.

5. Match columntwith column Il and select the correct option from the codes
given below.

Column | Column Il

A. Copperreleasing lUD (i) LNG-20

B. Hormone releasing (ii) Lippes loop IUD
C. Non medicated IUD (i) Saheli

D. Mini pills (iv) Multiload-375
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a ) A<(iv), B-(ii), C-(i), D~(iii) b ) A~(iv), B-(i), C-(iii), D~(ii)
¢ ) A=(i), B=(iv), C~(ii), D-(iii) d ) A~(iv), B~(i), C~(ii), D~(iii)
VERY SHORT ANSWER 2*2=4

6. Differentiate foeticide and infanticide:
7. Select the correct term from the bracket and complete the given branching
tree.

Periodic abstinence
=
Natural methods = }'5 o
Coitus interruptus
Condoms, vaults,
A
Caps etc.,

B].:‘::t;o;fol Oral contraceptives — Pills
\ _— Vasectomy

Surgical methods = C
1UDs —D

(Barriers, Lactational amenorrhoea, CuT, Tubectomy)

SHORT ANSWER 2*3=6

8. Which method do you suggest the couple to have a baby, if the male
partner fails to inseminate the female or due to very low sperm count in
the ejaculate?

9.—_The procedure of GIFT involves the transfer of female gametes into'the
fallopain tube, can gametes be transferred to the uterus to-achieve the
same result? Explain.

LONG ANSWER 1*56=5

10."What are the strategies to be implemented in India to attain total
reproductive health?
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